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4. International Atomic Energy Agency was

6. Mahmud Ghazni attacked Thanesar of

y A

[’ndfa? which Act Supreme Court was
established at Calcutts ?

A 1833 Charter Act

(B) 1773 Regulating Act

(C) IB13 Charter Act

(D) 1858 Government of India Act

Which accounting dealswith ascertainment.
allocation, apportionment and accounting
aspect of costs ?
(A) Management
(C) Financial

(B) Cost
(D) None of these

Second battle of Panipat took place in
(A) 1664 (B) 1761
(C) 1526 (D) 1556

established in 1957 to implement the
proposal of “Atoms for Peace” of

(A) John F. Kennedy

(B) Abraham Lincon

(C) Dwight Eisenhower

(D) Wudro Wilson

“By vouching is meant the verificition of the
authority and authenticity of transactions
as recorded in the books of accounts.” This
1s defined by

(A) R. B. Bose

(B) De Paula

(C) Joseph Lancaster

(D) Taylor and Perry

Haryvana in
(A) 1014 (B) 1263
(C) 1492 (D) 1054

Which is a book maintained by the Audit
Clerk ?

«’-”"(A) Audit Programme

(B) Internal Check

(C) Audit Note Book

(D) None of these

-------
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8. The thermodynamic process in which no
work is done on or by the gas is
(A) isothermal process
(B) adiabatic process
% isochoric process

(D) isobaric process

Which costs remain fixed in total amount
with increase or decrease in the volume of
output or productive activity for a given
period of time ?

(A) Semi-variable (B) Variable

(C) Fixed (D) All of these
Name the district which is the ‘largest
producer of iron pipes’ in Haryana.

(A) Yamunanagar (B) Hisar

(C) Jind (D) Gurugram

Which is the process of marketing
communication involving information,
persuasion and influence ?

(A) Promotion (B) Advertising
(C) Salesmanship (D) None of these

Choose the correct alternative that will
complete the series.

B,D.F,ILL,P,?

(A) R B) S

€T ®U

Which leverage may be defined as the
tendency of the operating profit to vary
disproportionately with sales ?

(A) Financial (B) Operating

(C) Composite (D) None of these

10.

11.

12.

13.

river does not get its source from
the Shivalik Hills,
(A) Ghaggar (B) Markanda
(C) Dohan (D) Tangri

Chintz, Cossaes and Bandanna are the

names
(A) Popular hooks

(B) Printed cotton clothes
(C) Popular Paintings

(D) 01d Coins

14.

15.
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16. The total wages Rs.26.2bH, actual time
taken is 16 hours. Therefore, what is the
effective rate of earning per hour ?

(A) Rs.1.26 (B) Rs.1.50
(C) Rs.1.60 (D) Rs.1.76
17.  Gurgaon district of Haryana was formed
in the year
(A) 1966 (B) 1979
(C) 1995 (D) 1913
18. A port transmits one bit of
data at a time.
(A) Parallel (B) Open
(C) Software (D) Serial
19. Which leverage may be defined as the
tendency of the residual net income to vary
disproportionately with operating profit ?
(A) Operating (B) Composite
(C) Financial (D) None of these
20. Saina Nehwal won Bronze medal at the
London Olympic held in
(A) 2012 (B) 2008
(C) 2004 (D) 2016
21. The Mathematics marks of 10 students
are as follows (out of 100) :
85, 100, 36, 40, 90, 92, 96, 86, 30 and 20.
Find the median of their marks.
(A) 85 (B) 86
(C) 85.5 (D) None
22. Which district of Haryana has the lowest
literacy rate as per 2011 census ?
(A) Mewat (B) Mahendragarh
(C) Rewari (D) Bhiwani
23. The word “audit” is derived from the
word Audire.
(A) Latin (B) Greek
(C) French (D) None of these
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Intramolecular hydrogen bonding is
seen in

(A) o-hydroxyphenol

(B) o-nitrophenol

(C) p-nitrobenzene

(D) p-chlorobenzene

following formula :

= Gross Operating Cycle
Period — Payable Deferral Period

(A) Raw Material Conversion Period
(B) Work-in-Process Conversion Period
(C) Net Operating Cycle Period

(D) Receivable Conversion period

Who is the architect of Pinjore Gardens

of Haryana ?

(A) Jahangir

(B) Nawab Fadai Khan
(C) Shah Jahan

(D) None of these

Complete the

The angle of elevation of the top of a tower. |

from a point on the ground which is 30'm
away from the foot of the tower is8.30°.

The height of the tower is

(A) 103 m (B) 3+/10m

(C) 30 m (D) 30 m

Rock Garden of Chandigarh was founded
by

(A) Maciej Nowicki
(B) Nek Chand Saini
(C) Albert Mayer

(D) None of the above

Lead occurs mainly as
(A) Cinnabar (B) Galena
(C) Cassiterite (D) Magnetite

The quantity of material to be ordered at
one time is known as quantity.
(A) Reordering

(B) Economic ordering

(C) Maximum ordering

(D) Minimum ordering

-5-
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Every Panchayat Samiti of Haryana

shall appoint different Committees, each
Committee shall consist of how many

maximum number of members including
Chairman ?
B)6

(A) 12
©€) 8 (D) 10

‘SAFTA’ agreement is associated with
(A) ASEAN (B) NAM
(C) SAARC (D) European Union

The Consumer Protection Act, 1986
provides for better protection of the
rights and interests of

(A) Manufacturers (B) Consumers
(C) Producers (D) Labors

The word “Libero” is related to which of
the following games ?

(A) Hockey (B) Cricket

(C) Volleyball (D) None of the above

A, B, C, D, E and F are six members of a |
family. A is the mother of B, who is the'|
husband of D. F is the brother of one-of
the parents of C. D is the daughter-in-law
of E and has no siblings. C is the.8on of D.
How is F related to D ? 3

(A) Father (B) Cousin

(C) Brother-in-law (D) Brother

Which turnover denotes the percentage
change in the labour force of an
organization ?

(A) Material (B) Money

(C) Labour (D) None of these

In Haryana, Indira Gandhi Super
Thermal Power Project is located at
(A) Jharli (B) Khedar

(C) Panipat (D) Kakroi

I. Pooja is older than Mukesh.
I1. Suresh is older than Pooja.
II1. Mukesh is older than Suresh.
If the first two statements are true, the
third statement is
(A) False

(C) Uncertain

(B) True
(D) Data insufficient

-6-
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Factors of evaluative eriteria for selection
of audit evidence consist of

(A) Relevance (B) Reliability

(C) Sufficiency (D) All of these

Markanda river enters Haryana from the
district of

(A) Faridabad
(C) Sonipat

(B) Hisar
(D) Ambala

The second generation computers were
characterized by

(A) Integrated circuits

(B) Transistors

(C) Vacuum tubes

(D) None of these

Which are the financial statements in
which the data or figures reported in the
financial statements are converted into
percentages of a common base amount ?
(A) Vertical Size (B) Horizontal Size
(C) Common Size (D) All of these

district has the lowest.population
density in Haryana as per 2011 census.
(A) Sirsa (B) Bhiwani
(C) Fatehabad (D) Kaithal

A may have several hundred
tracks on each side of each platter.

(A) Magnetic disk (B) Floppy disk

(C) Hard disk (D) Optical disk

“A funds flow statement is prepared
in summary form to indicated changes
occurring in terms of financial condition
between two different balance sheet dates”.
This is defined by

(A) Smith and Brown

(B) Foulke

(C) Robert Anthony £

(D) None of these

=

1/2020 (34)

et~y TV ¥, A B GeATEA T
gl wfaaA R
(A) st (B) Ja7

() Taferen o A aft

mqﬂMﬁ_mﬁ#nm
FA 2 | "
(A) FHErEa (p) fEm |
(C) A (P AT —/

g |
(A) 3MIce afFz

o ZA

=G

(D) &1 & FI3 Fel

H-H faea fyami 2, =i fa=img fE=fi 5
faie fopu TTu SRSl A1 HAFT F TEHES AGR
afst & wfawra 7 gfafda AATE 7
(A) FAT AFR  (BY &= s=E

(C) SIS 3R (P) I Tt

2011 1 FHTOHT & IR T 5
ot p SoEn T A ® |

( (B) farht —\
(C) BRI (D) % —

4. TH T Yl R F 7F AR

R B e © | A

\\?:;gaiﬁa%aa ®) v R X
ey (D) AfeH foes.

“ e fafty yame faaofl ar w9 4 3@t = o
v fafil & st foir fearfa & @l 8 &m
arel afadAl i gt % for R fwn s
2 | 7@ e gry aioaTfeE ® )

3 ST g
\_&/

99.
J/

40.

41.

42.

43.

45.

(B) W3k

(C)ﬁa'_éq'vﬁr

(D) T & 8 T
B



49,

50.

www.HaryanaJobs.in

The Governor General, who declared that
Bahadur Shah Zafar would be last ruler
of Mughals

(A) Dalhousie

(B) Canning

(C) Curzon

(D) Robert Clive

The liquidator normally gets the
remuneration in the form of commission
which is usually based as a percentages
on the value of assets realised and

amount paid to creditors.
(A) Secured (B) Unsecured
(C) Preferential (D) All of these

Consider the following statements about

Samudrayaan Project :

1. The ‘Samudrayaan’ project
undertaken by the NIOT, Chennai,
1s in line with the ISRO’s ambitious
‘Gaganyaan’ mission of sending an
astronaut to space by 2022.

. The ‘Samudrayaan’ is a part of the
Ministry of Earth Sciences’ pilot
project for deep ocean mining for
rare minerals.

Choose the right options given below :

(A) Both statements 1 and 2 are true

(B) Only the statement 1 is true

(C) Only the statement 2 is true

(D) None of the above

8]

Factors determining working capital

requirements consists of

(A) Business cycles

(B) Rate of growth of business

(C) Earning capacity and dividend
policy

(D) All of these

Which city is famously known as ‘Paris
of Haryana’ ?

(A) Panipat
(C) Jhajjar

(B) Ambala
(D) Karnal
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The kinetic theory of gases gives the

1
formula PV = gNm\i’*2 for the pressure

P exerted by a gas enclosed in a volume
V. The term Nm represents
(A) The mass of a mole of the gas

(B) The mass of the gas present in the
volume V

(C) The average mass of one molecule
of the gas

(D) The total number of molecules
present in volume V

Which card makes a record of the receipt
and issue of material and is kept for each
item of stores carried ?

(A) Post card (B) Identity card
(C) Bin card (D) None of these

Rewari Railway Heritage Museum of
Haryana has World’s oldest still functional
steam locomotive is known as

(A) Himalayan Queen

(B) Fairy Queen

(C) Iron Lady

(D) Shimla-Kalka Express

Let E be an event of a random experiment,
then probability of event E + probability
of event not E is

1
@ 3
®) 0

©) 1
(D) Can’t be found

The company must pass which resolution
for reduction of capital ?

(A) Special (B) Ordinary

(C) Concurrent (D) All of these

The Grand Trunk road does not pass
through which of the following districts
of Haryana ?

(A) Sonipat (B) Panipat

(C) Kurukshetra (D) Bhiwaniv
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Which of the following two Island
countries located in the Indian Ocean ?
(A) Cuba and Barbados

(B) Sri Lanka and Maldives

(C) Fiji and Ireland

(D) None of the above

“Internal Check means practically a

continuous internal audit carried on by
the staff, by means of which the work of
each individual is independently checked
by other members of the staff.” This is
defined by

(A) F.R. M. de Paula

(B) L. R. Dicksee

(C) Arnold W. Johnson

_(D) None of these

Asbestos is found in which district of

Haryana ?
(A) Mahendragarh (B) Hisar
(C) Karnal (D) Gurugram

Curd contains several micro-organisms.
Of these, which bacterium promotes the
formation of curd ?
(A) Lactobacillus
(C) Lactobacus

(B) Lactointus
(D) Lactohicus

Stock is taken on the day of

the business year.
‘@ First
(C) Last

(B) Middle
(D) All of these

Find the set, which is different from
others.
A XWVuUyY

(B) EDCBA
(C) ONMLK
@) JIHGF
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The SEBI has supported an over the
counter market for the listing of which
companies ?

(A) Small Companies

(B) Big Small Companies

(C) Medium Companies

(D) None of these

Who designed the high court building of
Chandigarh ?

(A) Laurel Synder (B) De’Caprio Sela
(C) Le Corbusier (D) Dwen Parker

__ consideration is the amount
which is paid by the transferee company
for the purchase of the business of the
transferor company.

(A) Purchase (B) Selling

(C) Quasi-selling (D) None of these

is known as ‘Brass town’ of
Haryana. .
(A) Jagadhari (B) Kaithal
(C) Kundli (D) Narnaul
In a class Mohan and Anthony opted
Physics and Chemistry.
Altaf and Anthony opted Physics and
Mathematics. -
Mohan and Edward opted Chemistry and
Drawing. '
Altaf and Edward opted Mathematics and
Drawing. .
Name the student who opted Physics,
Chemistry and Mathematics.
(A) Edward (B) Mohan
(C) Anthony (D) Altaf

Which liability may or may not arise ?
(A) Current liability

(B) Fixed liability

(C) Contingent liability

(D) Shareholder liability

-
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(C) Feeil (D) FFEIS )

67. TF F&1 § Al AW uEAEl 3 Sifad 3F
/m-wmﬁaﬂ?{n
FedTE 3R UgAl 7 e 7 e =

_ T
A 3R e A WeA-ueE R e
1 fawea 91 | ~
IedTE iR UsaE 3 MM R fEEen | 1
farpeq 91 | >
< foyeneli =1 T aTse e WifeH, TRE-
WA SRR L
A) (B) 9I&
(f uEt (D) =aT®
68. FrA-Hi Faal I & wHdl @ W 7
(A) =] a1 Y \‘U‘&
() i &P
HTEHETE Sl "™ .,b
(D) IR 3l I ,U" e
DA \M'D
LT B ey
W e
g e\
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In year , Chandigarh declared as
the first smoke free city of India.

(A) 2004 (B) 2007

(C) 2018 (D) 2002

Which Section of the SEBI Act specifies
the basic duty of SEBI ?

(A) Section 4 (B) Section 11

(C) Section 7 (D) Section 8

has been accorded the honor of the
‘Surya Kavi’ of Haryanvi music genres
Raagni and Saang. »
(A) Kumardas (B) Lakhmi Chand

(C) Surdas (D) None of the above

is a free and open software
which means it is freely available for use
and since its source code is also available
so anybody can use it,. modify it and |
redistribute it.
(A) Linux

(C) Solaris

(B) Windows
(D) None of these

The term cost of capital refers to the
rate of return‘a firm earn

on its investment.

(A) Minimum

(C) Zero

(B) Maximum
(D) None of these

Who among the following has been
speaker of Haryana Vidhana Sabha for
maximum number of times ?

(A) Harmahendra Singh Chadda

(B) Satbeer Singh Kadian

(C) Ashok Kumar Arora

(D) Kuldeep Sharma

can be categorized into operating
system and language translators.
(A) Application software
(B) Utility software
(C) System software
(D) None of these
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for ad o = Eime # Ia F1 TEen 91 g
yret =fee o e 7

(A) 2004 2007

(C) 2018 (D) 2002

&t siferfe - e e
dex ffdee fpg My & 7
(A) g1 4 (B) 911 11
(C) a1 7 (D) 911 8
H g e e i
iR it 3 fore g Fem T

(A) FARGE ) TEHT 92 /
(©) T ©) FFEFEE—
<o UF G AR gol g 2
ﬁwmf%ﬁﬁaﬁwﬁ%mgﬁam@
39T @ 3R < 3T G Fie ot gy
2 ST HHE +ft st I A a2, 28
ésﬁ&aaha?ﬁaﬁﬁaﬂm%u V2%
®B) fas= \J/
o B A e & v R
RNIESE LR St ok S
(&) J[gaw Iferrag

© = ) 3T @ = 7

ﬁw&—rf@aﬁﬁmﬁqﬁ&mmaﬁﬁmm%
TR ? ~
) e fie wg=

(B) waafR g ifeam
(C) 319N FAR 3T
(D) Feveta ymt
! e feww ok dmow
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(A) URTHE Hiwea

(B) IRferdt aiwaa
(C) Torem gigeam
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Which would be developed satiafving
optimally the constraints of time and
cost without 1n any way compromising
the quality of audit ?

(A) Audit Planning

172020 (34)

76.  Fra-m S £ peen 2 wv off w3
#A gu e i v £ A g
fr\lm-mm

(B) Audit Programme (B W"m v

(C) Internal Checking () satrs ohem

(D) All of these (D) 2w ‘
is known as Cherrapunji of | 77. wirarm w1 Frdsht wm A ¥

Harvana. (A Tt (B ferm

(A) Chhachhrauli (B) Sirsa \ D) S

(C) Rewari (D) Ambala (©) T o

Lead nitrate on heating emits brown | 78. @lzwﬁmw?w*___“ﬁﬂ

coloured FTAR

(A) NO (B) NO, A) NO (B) NO,

(C) N,O, (D) NO,- (c%@o (D) NO,

Which ratio expresses the relationship | 79 a1 I e S i e T

between current assets and current @S #9 qau s =t ?

eyt SR ROERN 2 R T (B ha =

(A) Liquudi ia Q { CO o

(C) Current (D) Debt-equity (&\ () SITe] (D) =

The value/s of x for which the 2 fu \%;s 80. xF1 e uF form ¥ fow 2 % o = 2 - |

fix) = 3x* — 1 and g(x) = 3 + x are equal M egx) =3+ x a2

is/are
(A) 1473, -1 (B) {1}
(C) /3] (D) None of these

How many concepts of working capitals
are there ?
(A) Three
(C) Bix

What is the acronym UW stands for

in terms of Mobile Governance in India ?

(A) Unified Mobile Application for
New-age Generation

(B) Unified Mobile Application for
New-age Governance

(C) United Mobile Application for
Neo-Governance

(D) None of the above

(B) Four
(D) Twe

(A) W3, -1
(C) 43}

(B) {1
(D) 3% § #1§ I8
81.
(C) &
oI 8 WSS TEAE § Amel § §igw w9
UM{NGE!WW%‘?
(A)mmmw
- TS FHIA ]
ymmﬁmw
- U T -
(C) qATEZE WIATEE I B
fasi-mata
(D) 344 0 & #r§ T

82.
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English Language =t W
(Direction Q. No. 83 and 84) : 87. frermfeanas gem#r _ fiwma
Read each sentence to find out whether there qzﬁ?r?
- . . { A
18 any error in it. The error, if any, will be in b .
one part of the sentence. Mark the alphabet of (B) G / :
that part with error as your answer, [ / "
83. The patient would not / haye died / © W /
(A (B) (D) 378 | 1§ A&
when the doctor had / come in time.
©) D)

88. CFU A F IEA AR |
I\t;ﬁtyl that the daughter of millionaire / 3({ Frearas a1 s
¢

A) B)
is involved in / the bank robbery. @) Bfcrarers: fpan fasror
© D) (C) Turarss T fagmo
Identify the types of sentence in the following ( &ﬁ/ :
sentence from the alternatives given below mﬁqﬁgqﬁ
them.
85_ Whatisyour name ? ; ‘ 89- ‘ﬁm,m___m%mamﬁ' |
\J(?/Declarative \ quﬁw .
) Interrogative \/
(C) Exclamatory (B) T ;
(D) Imperative (C) Sat=e
86. In the following question, some parts (D) T8 q 9E 7

of the sentence have been jumbled up.
You are required to rearrange these ..
parts which are labelled P, Q, R and S to 90. ‘HIY FNE THY wwd g7
produce the correct sentence. Choose the \/U(/

proper sequence.

Rekha and Seema WW%BWW@W T,
P. if they studied hard (B) |1 A1 HAW F o §9 ¥ arem
Q. could pass their examinations y FTNY T |
R. with all their heart and s.oul (©) T T ¥ R w9 B
S. and did not waste their time.
) QPRS (B) PRQS I AR
(C) QRPS (D) RQPS (D) T8 A T
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